

Leadership and Ideas for Tomorrow

APPROVAL FOR:

Purchase

☐ Works

ICT-CPX-HW-118

BUDGET CODE

Others (pl. specify)

(Please mark (✓) appropriate box)

Beneficiary Department/Place of work: BBA program/CED/Transport/Examination/MBA Program

system upgrade RAM Description: \_\_\_

Cor	hpa	rative	Sum	mary:
-----	-----	--------	-----	-------

S. No	Description	QTY	Power Net	Interlink	Allied Computer	National Traders
1.	2 GB DDR II	14	50,400/-	49,700/-	45,850/	48,160/-
Add G.S.T			8,568/-	8,449/-	7,794/-	8,187/-
Total			58,968/-	58,149/-	53,644/-	56,347/-
	1 GB DDR II buy back (deduct Amount)	14	3,290/-	3,150/-	3,850/-	3,500/-
G.	1,000		55,678/-	54,999/-	49,794/-	52,847/-
Total					100	

Recommended Supplier/Vendor/Contractor: Allied Computer

Approval Amount: Rs. 49,794/-

Basis of recommendation: Being lowest

Foxwarded by

appropriation)\_

Approved by

irector IBA/Director IT/Projects/Registrar/\_\_\_

Enclosures:

Original Quotations along with RFQs

Requisition from the concerned person/Deptt

Copies of Tender document (if any)

Copy of tender advertisement (if any)

Please mark (✓) appropriate boxes)

Relevant minutes of Purchase Committee/Audit & Finance Committee/Executive Committee

(For Budgetary Allocation/Re-

IBA Finance Deptt Budget Certificate

Other Documents



## POWER NET IT Solutions Providers

#### Quotation

POWERNET	Ref #:96/PN/2016	
Ph:021-35640837	QUOT Date: 3rd July 2016	
Fax:021-35640837	NO : 020	
Prepared By:Kashif	M/s. Army Public School Karchi	
kashif@powernet.com.pk	Mr. Abbas Haider IT Department	
Cell:0321-2573451	in Tribudo Trancel II Department	

Subject: Multimedia Projector Upgrade Ram's

S.No	BRAND	Item Description	Qty	Unit Price	TOTAL AMOUNT
1	China	RAM 2 GB DDR II	14	3,600.00	50,400.00
2	China	Buyback 1 GB DDR II	14	235.00	3,290.00
		Total Amount			53,690.00
					8,568.00
		Grand Total Amount			62,258.00

Note:Quantity can be Increased/Decreased/Not required at the time of activity so invoice will be generated as per actual basis

#### **Terms & Conditions**

Prices: The prices are in pak Rupees Tax 4.5% and SRB are not included.

Validity: The prices are valid for 3 days:

Payment: Cash In Delivery Time

Delivery: 10 to 12 Weeks after confirm order

We hope that our offer will be inline with your requirement. However, if you need any further

information / clarification, please feel free to contact us.

For, POWERNET

Kashif Ahmed (Manager Operations & Sales) POWERNET SLOUTIONS

Office No 206 2nd Floor, China Shopping Centre Abdullah Haroon Raod Karachi Phone# 021-35640837, Cell#0321-2573451, Web: www.powernet.com.pk



#### Integrated IT Solutions Provider & Audio Visual Equipments

# **QUOTATION**

M/s. Institute of Business Administration Karachi (IBA)

Mr. Asjad Siddique & Syed Ali Naqvi

Quotation # :0101/ILT/2016

Quot Date : 3<sup>rd</sup> July 2016 NTN # :3544327-8

GST # : 1700354432717

Subject: Proposal for Ram's

Dear Sir...With reference of our discussion; we are quote you our best prices with your reference.

Qty	Item Description	Unit Price	Total Price	GST 17%	Amount with GST
14	RAM 2 GB DDR II	3,550.00	49,700.00	8,449.00	58,149.00
14	Buyback 1 GB DDR II	225.00	3,150.00	0.00	3,150.00
CV-SVIJSI-II	Total	3,775.00	52,850.00	8,449.00	61,299.00

### **TERMS & CONDITIONS**

Validity : Price valid for 5 Days

Delivery : After received the receipt of Purchase Order

Taxes : All Price Included Taxes

For further required assistance please Contact on 021-35213682 & 021-35216610 e-mail:interlink@cyber.net.pk

We are looking forward to our valuable order.

Regards

Waseemuddin InterLink Technologies

Office#402,4th Floor Panorama Centre Building No.02, Raja Ghazanfar Ali Khan Road Saddar Karach Phone #021-35216610, Cell#0333-3513763, Email:interlink@cyber.net.pk/Website:www.interlinkus.net





Manufacturers Plain & Pre-Printed Computer Stationery. Importer, Wholesaler & Supplier Printers, Photocopiers, Fax & Computer Peripherals, Complete Range of Ribbons, Toners, Ink Cartridges, Drums, Data Cartridges, Networking Items & Office Supplies.

NTN: 15-06-0901089-7

GST: 12-00-8500-690-28

Address

RB - 3/19/1, D.M. Wafai Road, Near H.O. Akhbar Daily "Aman" Pakistan Chowk, Karachi. 92-21 32217436. 32210412, 32626806 92-21 32621687

Phone

E-mail

allied.computer123@gmail.com



INSTITUTE OF BUSINESS ADMINISTRATION PROCUREMENT DEPARTMENT, IBA MAIN CAMPUS, **KARACHI** 

<u>SUBJECT</u>: <u>QUOTATION FOR RAMS</u>.

RFQ-Upgrade-SYS-06 2016-17.

Dear Sir,

With reference to your enquiry above RFQ #, regarding supply of above subject item, we are pleased to quote our lowest prices as below:

<u>S # .</u>	Description	Qty.		ise ice	Total Price	GST. 17 %	Total Inclusive of Taxes.
01.	Ram 2GB DDR II Kingston Brand	10	@Rs	3,275/-	32,750/-	5,567/-	38,317/- Each
02.	Ram 1GB DDR II Buy Back	10	@Rs	275/-	2,750/-	**	2,750/- Each

Delivery

Ex-Stock

Brand

Kingston

Warranty :

05 Years

Thanking you and assuring you for our best services at all times.

Yours Faithfully, LLIED COMPUTER SERVICES

Members: Pakistan Association of Printing and Graphic Arts Industry Karachi Chamber of Commerce & Industry



PH: 349293+1.



Ref. No \_\_\_\_\_\_NT/IBA/1302-16

Date \_\_\_\_\_\_

IBA UNIVERSITY CAMPUS KARACHI

Dear Customer,

Refer to you enquiry  $\overline{RFQ-Upgrade}-SYS-06\ 2016-17\ Dt:30-06-16$ , our best quoted rates are mentioned as under :

Sr	Description	Qty.	Unit Price	Total Price	App. Tax	Grand Total
a.	Ram 2GB DDR2 Kingston			48,160/-	8,187/-	56,347/-
b.	Buy Back 1GB Ram DDR2 Kingston	14	250/-	3,500/-		3.500/-

Payment

at the time of delivery

Delivery Period

07 Days

Offer Validity

05 Days

Waiting for favourable action

Regards

Truly Yours NATIONAL TRADERS

MARKETING MANAGER